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@4 ‘?l® Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
3,223 x 10 = 4,557 x 10 =
7,583 x 100 = 1,831 % 10 =
7,19 x 10 = 9,893 x 1000 =
1,388 x 1000 = 6,709 x 100 =
6,406 x 10 = 8,019 x 1000 =
1,378 x 1000 = 1,959 x 100 =
6,289 x 100 = 7,098 x 1000 =
7,625 x 1000 = 8,352 x 100 =
2,586 x 1000 = 2,878 x 100 =
4,084 x 1000 = 6,139 x 10 =
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Moltiplica i decimali per 10,100,1000

Nome:

3,223 x 10 =32.23

7,583 x 100 = 758.3

7,19 x10="71.9

1,388 x 1000 = 1388

6,406 x 10 = 64.06

1,378 x 1000 = 1378

6,289 x 100 = 628.9

7,625 x 1000 = 7625

2,586 x 1000 = 2586

4,084 x 1000 = 4084

Data:

4,557 x 10 =45.57

1,831 x 10 =18.31

9,893 x 1000 = 9893

6,709 x 100 = 670.9

8,019 x 1000 = 8019

1,959 x 100 = 195.9

7,098 x 1000 = 7098

8,352 x 100 = 835.2

2,878 x 100 = 287.8

6, 139 x 10 = 61.39
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Punteggio:
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